



Maharashtra State Electricity Transmission Co. Ltd. CIN NO- U40109MH2005SGC153646 Major Stores 'A' Baramati

Ph: 02112 - 243515,243796 Fax: 02112 - 243693

Email: <u>ee6010@mahatransco.in</u>
Web: <u>http://www.mahatransco.in</u>

Plot no-F-14, MIDC Baramati Near Kathfal Railway Station Baramati Pin- 413 133.

Sub: - e-Enquiry for annual maintenance of store yard street light, high mast lights [flood light tower] & go down lighting at Major Store 'A' Baramati.

Dear Sirs.

Sealed technical documents & quotations are invited from eligible vendors, so as to reach this office on or before 09.11,2020 upto 17.00 Hrs as per detailed scope of work given in schedule 'A' on following terms & conditions.

TERMS & CONDITIONS:

- 1. Name & Scope of Work: As per schedule 'A'
- 2. Date of Opening: On same day if possible
- **3.** Rate: The rates quoted should be lowest & inclusive of all taxes, skilled and unskilled labour charges, and other incidental costs.
- 4. Validity: Order valid up to 31.03.2021
- **5. Document required: -** The rate offer must be accompanied with following documents duly attested & signed by vendor:
 - i) Shop act license if applicable.
 - ii) Copy of PAN card
 - iii) GST Registration, if applicable
 - iv) Similar work experience as above
 - v) Electrical contractor Licensee

6. Execution of work:

The contractor shall execute order immediately after acceptance of order as per Schedule 'A' enclosed. The contractor shall agree to carry work as and when material received at Major Store 'A' Baramati as per schedule 'A'. The authorized representative of the contractor must be present at Site while conducting the work.

	Page1	
--	-------	--

6. Arrangement of Vehicle, Tools and Tackles, Crane Etc.

You should make your own arrangement for vehicles, labour, tools and tackles, handling equipment etc. at your own cost for execution of the work detailed herein. For attending the above work, you should personally remain present or depute your representative/representatives with their ID cards authorized by you to this office and to the "Engineer-in-charge. You should arrange sufficient labour, tools and tackles, vehicles, crane, trailers etc. for the contract. To & fro charges and site accommodation to labour and staff will be born by you.

7. Failure of Execution of the work:

If you fail to execute the order as per schedule 'A' within stipulated period, at the rate of 1% per week delay up to maximum 10% of the order value will be recovered from you and further execution of order have to executed from other agency at your cost and risk.

- **8**. If it is found that performance of work is unsatisfactory, the contract is liable for termination without giving any prior notice and at your entire risk. The security deposit paid by shall be forfeited.
- **9.** The successful bidder has to pay 5% of the order value as Security Deposit.
- 10. Income Tax& Service Tax & WCT at prevailing rate would be deducted from your bill.
- 11. Please note that M.S.E.T.C.L. will not be responsible for any accident or damages due to your worker's negligence. You have to pay compensation to your workers during performing the said work in case of any accident.
- 12. In case any accident occurs during performing the said work to any of employee, MSETCL do not take any responsibility for any legal action or any compensation. It would be your liability.
- 13. The jurisdiction of this contract is subject to Baramati/Pune District Court only.
- **14.** Any risk that may be involve due to non registration of your workers and regulations of employment and welfare act 1969 will be on your account.
- **15.** Any breakage/damage occurred to MSETCL material/equipment/theft of material if any on asset during the work shall be recovered from your bills as per rules.
- **16.** The contractor shall not be entitled to claim any interest on amount payable to him.
- 17. In case of any dispute the decision of the undersigned will be final & binding upon you. The undersigned reserved the rights for cancellation of any or all quotations without assigning any reason.

Yours faithfully,

Executive Engineer Major Store 'A', Baramati

------ Page 2 ------



MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD MAJOR STORE 'A', BARAMATI SCHEDULE- 'A'

 $\textbf{Sub.} - E \; \text{Enquiry annual maintenance of store yard street light , high mast lights } \; [\; \text{flood light tower}] \; \& \; \text{go down lighting at Major Store 'A' Baramati}$

Sr.No	SAP Code	Description	Qty	Unit	Ex-Unit Rate	Total amount
1	50010368	Supplying and erecting VPIT heavy duty copper wound ballast for 230 V ,400W HPSV/MV/MH as per specification no FG-FG/AS4.	4	EA	1,832.65	7330.6
2	50000493	Supplying and erecting HPSV Lamp 3 pin BC /screwed cap head pin type 230V,400W SON-T- type.		EA	311.39	1245.56
3	50005023	Supplying and erecting of Electronic ignitor suiatable for 230 V metal halide lamp 70/150/250/400W(integral or nonintegral type luminaries as per specification no FG-FG/AS6.	4	EA	162.83	651.32
4	50010533	P&F 400W HPSV Lamp Capacitor	4	EA	322.6	1290.4
5	50010534	P&F 400W HPSV Lamp Porcelain Holder	4	EA	208.73	834.92
6	50002334	P&F MCB 16A	4	EA	202.44	809.76
7	50004603	Supplying and erecting street light fitting suitable for 400W metal hallide lamp complete with accessories on provided bracket as per specification no-FG-ODF/GSL.	4	EA	3,020.42	12081.68
8	50016333	Supplying and erecting HPSV Lamp 3 pin BC /screwed cap head pin type 230V,250W SON-T- type.	2	EA	267.26	534.52
9	50002444	Supplying and erecting VPIT Compound heavy duty copper wound ballast for 230 V ,250W HPSV/MV/MH as per specification no FG-FG/AS5.	2	EA	1,271.50	2543
10	50010412	Supplying and erecting of Electronic ignitor suiatable for 230 V metal halide lamp 70/150/250/400W(integral or nonintegral type luminaries as per specification no FG-FG/AS6.	2	EA	162.85	325.7
11	50004275	Supplying and erectingLED street light fitting suitable for 60W lamp, including lamp, with PF > 0.95 class IP 65 and above Housing of pressure die cast alluminium alloy and heat sink extruded alluminium complete as per specification No FG-ODF/FLS-2.	6	EA	3,408.39	20450.34

14	50011397 50004256	Housing of pressure die cast alluminium alloy and heat sink extruded alluminium complete per specification No FGODF/FLS-2. Earthing Pit Incl. Charcoal Salt GI Pipe	3	EA EA Sub To	6,165.47 2,145.02	30827.35 6435.06 85360.21
		Supplying and erecting LED Flood light fitting of 90-100W, including lamp, with PF > 0.95, class IP 65 and above				

GST18%Extra

The Executive Engineer Major Store 'A', Baramati